


Seven different coloured books
are kept one after one,

Red book in just on the top of
the Orange book

The Blue Book, is b/w Green and
Yellow book.

Violet book is b/w the Green and
Black book.

There are as many books b/w the
Green and the Red books as
there are b/w the Black and the
blue books. If the Yellow book is
on the top, whiclZBdok is exactly

in the middle? G- R‘B\-B



(a) Orange/ TR
(b) Red/ ©flcl

ﬁiolet/ ST

(d) Green/ &XI
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S players A, B, C, D, E scored
some runs during a match

1) B scored a half century, but did
not score a century

2) D scored more runs than ‘C’ but
less runs than ‘B’

3) A scored 37 runs, which is less
than ‘C’

4) E scored 29 runs more than ‘D’
5) C scored 21 runs less than ‘B’

What is likely to be the score of
‘E’?



-~ 5 Rgenfeal A, B, C, D, EH UHh
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Neeraj is the father of Rinku,
Jiya and Tiya are the daughter of

Ruby, who is the only sister of
Rinku. Vishnu is the son of

Rinku and Gita. How is Neeraj
related to Tiya?

e Reg @ faar & Rmr sk fan
o B 3§ o Ry @ goehd
g8 & | fdw] R &R wfrar &t 9e1 2|
AR, fbe goR Hefta 87
(alLMateral grand father/ ¥4I

(b) Paternal uncle/ di% d7 Al
(c) Paternal grand father/ <QI<I
(d) Maternal uncle/ HMHI



Town D is 13 km towards the

North-east of town A, A bus

starts from town A, travels 10

km towards north and takes a

SMJ tht turn. After taking the right

S rb turn it travels 5 km and reaches
town B, from town B the bus

D takes a right turn again, travels
21 km and reaches town Q. Town

B is in southwest direction of
towsr

hat is direction of town B wit
respect to town A?

YEX D, WEX A P StR-Ud H 13
fPf X 8 T 99 UEX A 9 IO
Q Bl 8, STR @ AR 10 &4 & I
HYl © SR T Fgeddl 8] TR IR
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(a) south-east

(b) West
(c) South-west

\Mrth- east



Ais 10 m. North of B. Cis 12 m
west of D. E is S m south of F. B
is 8m east of D. F is 10m west of
A. G is 5m north of C. What is
the direction of G with respect to
E?

ABD STRH10 W8I C, DY
12 Hicx uf¥=s9 # 8| E, F 9§ 5 #Hicx
SROTH 81 B, DY 8 HER YA H 2
F AQ10 AR URTH H21 G C9
5 Ak STR A 8| E® HeH H G &I
1 foa feem 4 87

et (b) east

(c) North-East (d) North




Statement:

Cases of food poising due to
Sﬁ;! consumption of liquor are
/‘\\ increasing in rural areas.
M Assumptions:

% of people consuming liquor is
\/1 more in rural areas.
) There are many unauthorized
X spurious liquor shops in the rural
areas.
Which assumptions is true?

Hh¥Y.

YT &3 H IRE P Had 9§ GBS
UIgSIf~T P AMc 9¢ %8 & |

EIRTI:




1) IR U9 qf A BT W
T & ¥ A B
2) UMV &3 # BY IFMRIPA Thall
YRI§ & M & |

RO el 87

a) Only assumption I is implict
(b) Only assumption II is implict
(c) Both
(d) Neither



Nt two T

naxt M*d

Select the word that will replace
the question mark (?) in the
following figure series.

S I BT II9 PN o fAiferRad

AP @ 4 ued R (?) &1 wIe
o |

Random, Omeletie, Telephone,
Nectar? 7YY

(a) Omega \,ﬂfrArtery

(c) Allergy (d) Lunatic



Three different position of same
dice are shown. Which No. is on
the face opposite to face showing
‘4’7

U B U™ B A STIT—IIeT
Rerfedt @ 15 81 ‘4 T9A ara
Hod ® f[AURId Bad IR DI 4T
d4X 87

32
&

(a) S |
(c) 2 (d) 6




If16 +4 =74

21 =7 =33
81+9=99

afe 16 + 4 = 74, 21 + 7 = 33,
& % S

™\
81+9=997 55+ §=?
(a) 110 \j(b) 1001

(c) 11 uidf 1011



Statement: A no. of school
children in the local schools
have fallen ill after the
consumption of their subsidized
tiffin provided by the school
authority.

Course of action:

@ The tiffin facility of all school

B

should be discontinued with
immediate effects.

The government should
implement a system to cerfity
the quality of tiffin provided by
the school.
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(a) Only I (b) Both
\ﬁ?lly II (d) Neither



Nine persons- P, Q, R, S, T, U, V,
W and X are seated in a straight
line facing mnorth but not
necessarily in the same order. T
is fourth to the left of W. Neither
T nor W sits at extreme ends of
the line. Only one person sits
b/w X and R. Neither X nor R is
an immediate neighbor of W. P
sits second to the right of X.
Only two persons sit b/w P and
S. Q is mnot an immediate

neighbor of S or P. V is not an
immediate neighbor of X
Who is in the middle of the line?



ﬁ*ﬁmﬁﬁ—P Q,R,S, T, U, V, W3R
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P, Q. R, S, T, U, V, and W are
eight individuals sitting around a
circular table facing the centre. P
is second to the right of T who is
the neighbor of R and V. S is not
the neighbor of P. V is the
neighbor of U. Q is b/w S and W.
W is not b/w U and S.

Who is sitting third to the left of
w?
P,Q,R,S,T,U,V, 3R W 35 s &

ST T MATPR ASl & oI 3R

ok S

TIW USRS ® g & 98 &
W P 90 9 R WIH R P9 997
87



(a) M is the Mother of K ‘A#B’ —> A is the son of B

M' K ﬁ -HT % (4 ~Ty»? .
(b) N is the paternal grand- A@B’ - A is the mother of B

mother of K ‘A&B’ — A is the wife of B

N K & gl & ‘A%B’ — A is the sister of B

;: ' 2 %tgdgught“ e N'Z__)T"if M@R%K#G#N&T, then which of

o the geburil anen d-{ather the following statement is not
of M correct?

T, M & TTaT & maq* ‘A#B’ BT 3 B ‘A, B P! 9T &

| _ + ‘A@B’ BT 312t & ‘A, B &I HIGT &
@ R—K ‘A&B’ HT 3rf § ‘A, B 3 Ul &

‘A%B’ BT 3ef & ‘A, B &I 984 &



C <A

<BLF

B is twice as old as A but twice
younger than F. C is half the age

of A but is twice older than D.
B 99 AW QN 2 AR F R
QR[AI BICI 8| C @f 99 A ¥ IEf @
lf 98 D W QAT ¥T 81 TEY

e §9T DI &7
\ A4 B (b) D

(c) F (d)C



0D2. Statement:

An increasing number of
graduates produced by Indian
universities are unemploya
Course of action:
1) Colleges and institutes of higher
/< learning should be given greater

autonomy to decide course

content
World class foreign universities
should be encouraged to set up

campuses in India.



YRarg feafdemel ¥ Reas a
EAD B qgal AT SRR 8
PRATG D QR

1) S REr & $ieioll iR Il
I UTSTHH AHAT 99 BRA & forg
3f&H FRIRIAT & S d1fey

2) fasg g fassht faafdemeral &1
IR A IRWR Wi &A@ fore
MicdIfed fam ST ey |

(a) Only I follows
(b) Both follows

(c) Only II follows
d) Neither



1 . Select the figure that will replace
T l l l*_ b the question mark (?) in the
N T T "1‘ ? following figure series.

Tl—*‘é- Wwﬁﬂwaﬁﬁ

FrfeiEd mpfa 5 o
e l — (?)W

" Tl _T,. +1 Wﬂ&c
l . 1
e @

(b) T 7 = % T




Statement: / PY-.
N<T<O0; F> N>E=T > R; R>Y

R<O e
(a) only I _(:Z'NS—"O«

AB) T
(c) II and III both %

(d) All of the above



Each of P.Q. R, S, T, U and V has
an exam on a different day of a
week starting from Monday and
ending on Sunday of the same
week. S's exam is immediately
before R. Only three people have
exams between U and Q. Q's
exam is immediately before S.
Only two people have exams
between S and V. P's exam is on
Tuesday. R's exam is on Sunday.
Who among the following has
exam on Monday?

P,Q,R,S, T,U3R VH A TA®
D RGN T8 D [P 3T fad R
Bl 8 Ol 9HdR 9 g% B[l 8 3R
S §WE @ fAGR I FHIG B
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IR Q D €I dact AT A B

e B Q I e S P b UBA
g1 SR VD drg dad & ARl BI
e 8| P & W& HTdR 9 2 |
R & e faar &1 8. fF=ferRad
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/af( (b) T

(c) V (d) Q



